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Loss of influence 

- its important to recognize that in many words the English and Scandinavian languages different chiefly in their inflectional elements .the body of the word was no nearly the same that only the ending would put obstacles in the way of mutual understanding .

- In the mixed population which existed in the Danelaw these ending must have led to much confusion , tending gradually to become obscured and finally lost . This tendency towards loss of inflections happily simplified English grammar . 

--------------------------------------------------------

Norman Conquest 

The Original of Normandy 

- Normandy is a district on the northern coast of France , Band of North men settled there in the 9th and 10th centuries at the same time when similar bands were setting in the north and east of England .

- in 912 , France recognized Dane's occupation of Normandy and Danish leader Rollo accepted Charles the simple as his overlord and became the first Duke of Normandy 

England at the time of Norman Conquest 

- The English king Etherlred had married a Norman wife . When he was driven into exile by Danes ( Cnut ) , he took refuge in Normandy . Was more French than English . 

- in 1042 , when the Danish line died out and Edward known as the confessor was restored to the English throne , he brought with him a number of Norman friends and gave them land and important place in the government , a strong French atmosphere pervaded the English court during his 24 years reign . 

- These Normans were not liked by the more powerful Saxon nobles , particularly by the most powerful family of Wessex , the Godwinsons.

Edward's Contribution to England 

- Edward, known as the confessor , was more interested in the church than in king ship . 

- Church building had been going on far over a century , and he encouraged it .

- The pattern of the English village , with its manor house and church , dates from this time . 

- Edward started a new church fit for a king at Westminster , just out side the city of London . 

- By the time Edward died there was a church in almost every village 

The Issue of Succession 

- Edward the Confessor died childless. Harold son of Godwin , the Earl of West Saxon , was an influential figure . he was a shrewd capable man and had acted as Edward's principle advisor , Except for one brief interval , he had been the virtual ruler of England until the time of Edward death . 
- After Edward , he was selected as the king of England . 

- Harold's right to the English throne was challenged by William the Duke of Normandy . 

- William was the second cousin to the late king .

- Though this relationship did not give him any right of inheritance to the English throne , yet he had been living in expectation of becoming Edward's successor . 

- The only way to achieve this goal was the use of force . 

- A third claimant to the English throne was the king of Norway .  

Preparation of Attack 

- having determined upon his course of action he lost no time in beginning preparation . 

1- He secured the cooperation of his vassals by the promise of liberal rewards once England was his . 

2- He came to terms with his rivals and enemies on the continent . 

3- He appealed to the Pope for the sanction of his enterprise and received the blessing of the church . 

The Battle of Hasting 

- getting no help , Harold hurried south and stationed his army on a broad hill at Senlac , not far from Hasting , and a waited William's attack . 

- William's army though small was better armed , better organized , and was mounted on horses . But 

- Harold's position was advantageous so his army stood its ground . 

- William restored to a desperate stratagem . He ordered a feigned retreat– The English fell into the trap . Thinking the Normans were really feeling, apart of the English army started in pursuit . But the Normans made a stand and the battle was renewed on more even terms . 

- After Harold and his brother were killed the English army retreated . 

- William marched to London , which quickly gave in when he began to burn villages outside the city . 

- He was crowned the king of England in Edward's new church of Westminster Abbey on Christmas day , 1066 . 

The outcome 

- One outcome was the introduction of a new nobility , Many of the English higher class had been killed on the field at Hasting . those who escaped were treated as traitors and the places were filled by William's Norman followers . 

- In 1072 only one of the twelve earls in England was an Englishman , and he was executed four years later .  

- For several generation after the conquest the important position and the great estates were almost always held by Normans or men of foreign blood. 

The Language 

- For two hundred years after the Norman conquest , French remained the Language of ordinary inter course among the upper classes in England . The aristocracy whether from English origin or French spoke French . 
- The Language of the masses remained English . 
- The result of the Norman conquest was that it 

1- Lost inflection 

and 

2- Gained vocabulary 
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